World History
Chapter 15 standards based questions

1. The correct answer is B.  Europeans hoped to avoid war by giving Hitler what he wanted. Letter A is incorrect because Europeans did not want to go to war. Letters C and D are incorrect because the other European powers were not concerned with Czechoslovakia’s reaction.

2. The correct answer is letter D.  The unchecked aggression of the Axis Powers drew Europe into World War II.  Letter A is incorrect because Czechoslovakia was powerless against Germany. Letter B is incorrect because Hitler did get what he wanted. Letter C is incorrect because the Big Four did come to an agreement about Czechoslovakia.

3. The correct answer is letter C.  The photograph suggests that Hitler loves children and they love him.
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